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SETS

Example

1. Let A={2,5,6,8} and B={5,7,9,1}. Find 

Watch Video Solution

A ∪ B

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_AdA6KzgHULWS


2. Let A={a,e,I,o,u} and B={a,I,u}. Show that

Watch Video Solution

A ∪ B = A

3. If A={1,2,3,4} and B={2,4,6,8}. Find 

Watch Video Solution

A ∪ B

4. Find  when A={5,6,7,8} and B={7,8,9,10}A ∩ B

https://dl.doubtnut.com/l/_AdA6KzgHULWS
https://dl.doubtnut.com/l/_pnLUx14j7x0f
https://dl.doubtnut.com/l/_O7kHpI00iikY
https://dl.doubtnut.com/l/_CcGxZ6KzMuRy


Watch Video Solution

5. If A={1,2,3} and B={3,4,5} then illustrate 

in Venn- diagrams.

Watch Video Solution

A ∩ B

6. Let A={1,2,3,4,5}, B={4,5,6,7}. Find A-B.

Watch Video Solution

https://dl.doubtnut.com/l/_CcGxZ6KzMuRy
https://dl.doubtnut.com/l/_4uTybsYibbum
https://dl.doubtnut.com/l/_KhiR4a4XYH51


7. If A={p,q,r} and B={q,p,r}. Then check whether

A=B or not.

Watch Video Solution

8. If A={1,2,3...} and N is the set of natural

numbers, then check whether and N are equal?

Watch Video Solution

https://dl.doubtnut.com/l/_9kU1katzgODi
https://dl.doubtnut.com/l/_Hs10DgN3ud0H


9. Consider the sets A ={p,q,r,s} and B={1,2,3,4}.

Are they equal?

Watch Video Solution

10. Let A be the set of prime number smaller

than 6 and B be the set of prime factors of 30.

Check if A and B are equal.

Watch Video Solution

https://dl.doubtnut.com/l/_GmSgzKG4Z3EE
https://dl.doubtnut.com/l/_j2b5HTYeYkNh


11. Show that the sets C and B are equal, where 

C={ x : x is a letter in the word 'ASSASSINATION'} 

B={x : x is a letter in the word STATION}

Watch Video Solution

12. Consider the sets

. Insert the symbol  between each

of the following pair of sets. 

(i)  (ii) A....B (iii) A.....C (iv) B.....C

Watch Video Solution

ϕ, A = {1, 3}, B = {1, 5, 9}, C = {1, 3, 5, 7, 9}

⊂ or ⊂

ϕ.... B

https://dl.doubtnut.com/l/_uLzEJcZ9lWVv
https://dl.doubtnut.com/l/_CpejpTVbxoZp


Watch Video Solution

13. State which of the following sets are finite

or infinite. 

(i)  (ii) 

 


(iii)  (iv) 

 


(v) 

Watch Video Solution

{x : x ∈ N and (x − 1)(x − 2) = 0}

{x : x ∈ N and x2 = 4}

{x : x ∈ N and 2x − 2 = 0}

{x : x ∈ N  is prime}

{x : x ∈ N and  x is odd}

https://dl.doubtnut.com/l/_CpejpTVbxoZp
https://dl.doubtnut.com/l/_Ac35nfe7tPMo


Exercise 2 1

14. If A= {1, 2, 3, 4, 5), B= {2.4.6.8} then find

Watch Video Solution

n(A ∪ B).

1. Which of the following are sets? Justify your

answer 

(i) The collection of all the months of a year

begimng with the letter "J". 

(ii) The collection of ten most talented writers

https://dl.doubtnut.com/l/_kdxMuy0YhCYW
https://dl.doubtnut.com/l/_v9MRggfB6JxX


of India. 

(iii) A team of eleven best cricket batsmen of

the world. 

(iv) The collectionofall boys in your class. 

(v) The collection of all even integers.

Watch Video Solution

2. If A={0,2,4,6}, B={3,5, 7} and C={p, q, r}, then fill

the appropriate symbol  or in the

blanks 

(i) 0.....A (ii) 3....C (iii) 4....B 

(iv) 8....A (v) p....C (vi) 7.....B

∈ or ∈

https://dl.doubtnut.com/l/_v9MRggfB6JxX
https://dl.doubtnut.com/l/_rdjVzRODGrs5


Watch Video Solution

3. Express the following statements using

symbols. 

(i) The element 'x' does not belong to 'A'. 

(ii) d' is an element of the set 'B'. 

(iii) 'I' belongs to the set of Natural numbers. 

(iv) '8' does not belong to the set of prime

numbers P.

Watch Video Solution

https://dl.doubtnut.com/l/_rdjVzRODGrs5
https://dl.doubtnut.com/l/_BjdrKPNg1leq


4. State whether the following statements are

true or false. Justify your answer 

(i)  set of prime numbers 


(ii) S={5,6,7} implies  


(iii)  where 'W' is the set of whole

numbers 

(iv)  where's 'Z' is the set of integers.

Watch Video Solution

5 ∈

8 ∈ S.

−5 ∈ W

∈ Z
8

11

5. Write the following sets in roster form 

(i) B= {x:x is a natural number smaller than 6} 

https://dl.doubtnut.com/l/_ukcyP8eP8Vph
https://dl.doubtnut.com/l/_hFaZnTKH2km1


C= {x:x is a two-digit natural number such that

the sum of its digits is 8). 

(iii) D= {x : x is a prime mimber which is a divisor

of 60}. 

E= {x:x is an alphabet in BETTER}.

Watch Video Solution

6. Write the following sets in the set-builder

form 

(i) {3,6,9,12} (ii) {2,4,8,16,32} 

(iii) {5,25,125,625} (iv) {1,4,9,16,25,100}

W t h Vid S l ti

https://dl.doubtnut.com/l/_hFaZnTKH2km1
https://dl.doubtnut.com/l/_mEJPTk5ofA8M


Watch Video Solution

7. Write the following sets in roster form 

(i) A={ x : x is a natural number greater than 50

but smaller than 100} 

B={x : x is an integer,  


(iii) D={x : x is a letter in the word "LOYAL"}

Watch Video Solution

x2 = 4}

8. Match the roster form with set builder form. 

(i) {1,2,3,6} (a) {x : x is prime number and a

https://dl.doubtnut.com/l/_mEJPTk5ofA8M
https://dl.doubtnut.com/l/_7do24nHWrHx4
https://dl.doubtnut.com/l/_NFafcLF9oiiV


Exercise 2 2

divisior of 6} 

(ii) {2,3} (b) {x : x is an odd natural number

smaller than 10} 

(iii) {m,a,t,h,e,I,c,s} (c) {x : x is a natural number

and divisor of 6} 

(iv) {1,3,5,7,9} (d) {x : x is a letter of the word

MATHEMATICS}

Watch Video Solution

https://dl.doubtnut.com/l/_NFafcLF9oiiV


1. If A={1,2,3,4} and B={1,2,3,5,6}, then find

 Are they equal.

Watch Video Solution

A ∩ B and B ∩ A.

2. If A={0,2,4}, find .

Comment.

Watch Video Solution

A ∩ ϕ and A ∩ A

https://dl.doubtnut.com/l/_DTnaR7sAMTzi
https://dl.doubtnut.com/l/_fiJf5seALMDJ


3. If A={2,4,6,8,10} and B={3,6,9,12,15}. Find A-B and

B-A.

Watch Video Solution

4. If A and B are two sets such that  then

what is 

Watch Video Solution

A ⊂ B

A ∪ B ?

https://dl.doubtnut.com/l/_Q9bXzLfQrEeR
https://dl.doubtnut.com/l/_EcHdy9fwGpLC


5. Let A={x : x is a natural number}, B ={x : x is an

even natural number} 

C={x : x is an odd natural number and D={x : x is

a prime number} 

Find 

.

Watch Video Solution

A ∩ B, A ∩ C, A ∩ D, B ∩ C, B ∩ D and C ∩ D

6. If A={3,6,9,12,15,18,21}, B={4,8,12,16,20} 

C={2,4,6,8,12,14,16} and D={5,10,15,20}, find 

https://dl.doubtnut.com/l/_eiIVLvSJRJxK
https://dl.doubtnut.com/l/_zZZlPpcgzgcX


(i) A-B (ii) A-C (iii) A-D (iv) B-A (v) C-A 

(vi) D-A (vii) B-C (viii) B-D (ix) C-B (x) D-B

Watch Video Solution

7. State whether each of the following

statements is true or false. Justify your answers.

(i) {2,3,4,5} and {3,6} are disjoint sets. 

(ii) {a,e,I,o,u} and {a,b,c,d} are disjoint sets. 

(iii) {2,6,10,14} and {3,7,11,15} are disjoint sets. 

(iv) {2,6,10} and {3,7,11} are disjoint sets.

Watch Video Solution

https://dl.doubtnut.com/l/_zZZlPpcgzgcX
https://dl.doubtnut.com/l/_OxTvaYvY86BW


Exercise 2 3

1. Which of the following sets are equal? 

A={x : x is a letter in the word FOLLOW}, B={x : x

is a letter in the word FLOW} and C={x : x is a

letter in the word WOLF}

Watch Video Solution

2. Consider the following sets and fill up the

blanks with  as to make the= or ≠ so

https://dl.doubtnut.com/l/_OxTvaYvY86BW
https://dl.doubtnut.com/l/_EZKBQL7SKxSM
https://dl.doubtnut.com/l/_1GRrE0BbAYKQ


statement true. 

A={1,2,3{} B={The first three natural numbers} 

C={a,b,c,d} D={d,c,a,b} 

D={a,e,I,o,u} F={sets of vowels in English

Alphabet} 

(i) A....B (ii) A...E (iii) C....D 

(iv) D....F (v) F....A (vi) D.....E (vii) F.....B

Watch Video Solution

3. In each of the following, state whether A=B or

not. 

(i) A={a,b,c,d} B={d,c,a,b} 

https://dl.doubtnut.com/l/_1GRrE0BbAYKQ
https://dl.doubtnut.com/l/_yQsrAw5Zxw8x


(ii) A={4,8,12,16} B={8,4,16,18} 

(iii) A={2,4,6,8,10} B={x : x is a positive even

integer and  


(iv) A={x : x is a multiple of 10} B={10, 15, 20, 25

30...}

Watch Video Solution

x < 10}

4. State the reasons for the following : 

(i) {1,2,3.....10}  


(ii) {2,4,6,8,10} 

(iii) {5,15,30,45}  {x : x is a multiple of 15} 


(iv) {2,3,5,7,9}  {x : x is a prime number}

≠ {x : x ≠ N and 1 < x < 10}

≠ {x : x = 2n + 1 and x ≠ N}

≠

≠

https://dl.doubtnut.com/l/_yQsrAw5Zxw8x
https://dl.doubtnut.com/l/_h05ijGpPIZZ6


Exercise 2 4

Watch Video Solution

5. List all the subsets of the following sets. 

(i) B={p,q} (ii) C={x,y,z} (iii) D={a,b,c,d} (iv)

E=1,4,9,16} (v) F={10,100,1000}

Watch Video Solution

https://dl.doubtnut.com/l/_h05ijGpPIZZ6
https://dl.doubtnut.com/l/_EVceNkuRqXO6


1. State which of the following sets are empty

and which are not? 

(i) The set of lines passing through a given

point. 

(ii) Set of odd natural numbers divisible by 2. 

(iii) {x : x is a natural number,

 


(iv) {x : x is a common pomf to any two parallel

lines} 

(v) Set of even prime numbers.

Watch Video Solution

x < 5 and x > 7}

https://dl.doubtnut.com/l/_EQUMI4Tvu6If
https://dl.doubtnut.com/l/_llVLfip5lNVm


2. State whether the followmg sets are finite or

infinite. 

(i) The set of months in a year. (ii) {1,2,3, ..., 99,

100) 

(iii) The set of prior numbers smaller than 99. 

(iv) The set of letters in the English alphabet. 

(v) The set of lines that can be drawn are

parallel to the X-Axis 

(vi) The set of numbers which are muitiplies of

5. 

(vii) The set of circles passing through the

origin (0,0).

https://dl.doubtnut.com/l/_llVLfip5lNVm


Do This

Watch Video Solution

1. Identify and write the "common property" of

the following collectons. 

2,4,6,8

Watch Video Solution

2. Identify and write the "common property" of

the following collectons. 

https://dl.doubtnut.com/l/_llVLfip5lNVm
https://dl.doubtnut.com/l/_K2z39XM4XErE
https://dl.doubtnut.com/l/_foafdCbone0h


2,3,5,7,11

Watch Video Solution

3. Identify and write the "common property" of

the following collectons. 

1,4,9,16....

Watch Video Solution

4. Identify and write the "common property" of

the following collectons. 

https://dl.doubtnut.com/l/_foafdCbone0h
https://dl.doubtnut.com/l/_BER4EdWeIjKH
https://dl.doubtnut.com/l/_s8hYdQDo1Tt4


January, February, March, April,....

Watch Video Solution

5. Identify and write the "common property" of

the following collectons. 

Thumb, index finger, middle finger, ring finger,

pinky.

Watch Video Solution

https://dl.doubtnut.com/l/_s8hYdQDo1Tt4
https://dl.doubtnut.com/l/_8pMyC4QKTa4b


6. Write the following sets: 

Set of the first five positve integers.

Watch Video Solution

7. Write the following sets: 

Set of multiples of 5 which are more than 100

and less than 125

Watch Video Solution

https://dl.doubtnut.com/l/_a403Y9cOnBgY
https://dl.doubtnut.com/l/_vy30px8PxkYW


8. Write the following sets: 

Set of first five cubic numbers.

Watch Video Solution

9. Write the following sets: 

Set of digits in the Ramanujan number.

Watch Video Solution

https://dl.doubtnut.com/l/_mO2UUeo0zHBH
https://dl.doubtnut.com/l/_shIrwta5G2g5


10. Some numbers are give below. Decide the

numbers to which numbers sets they belong to

and does not belong to and express with

correct symbols. 

1

Watch Video Solution

11. Some numbers are give below. Decide the

numbers to which numbers sets they belong to

and does not belong to and express with

https://dl.doubtnut.com/l/_ZDx4VkV2WM6e
https://dl.doubtnut.com/l/_Y9Pm6qeTKTfO


correct symbols. 

0

Watch Video Solution

12. Some numbers are give below. Decide the

numbers to which numbers sets they belong to

and does not belong to and express with

correct symbols. 

-4

Watch Video Solution

https://dl.doubtnut.com/l/_Y9Pm6qeTKTfO
https://dl.doubtnut.com/l/_GI3a8fmvah5p
https://dl.doubtnut.com/l/_u8F5nhzHv9kO


13. Some numbers are give below. Decide the

numbers to which numbers sets they belong to

and does not belong to and express with

correct symbols. 

Watch Video Solution

5

6

14. Some numbers are give below. Decide the

numbers to which numbers sets they belong to

and does not belong to and express with

https://dl.doubtnut.com/l/_u8F5nhzHv9kO
https://dl.doubtnut.com/l/_66ZHBNOyvyrJ


correct symbols. 

Watch Video Solution

1. 3̄

15. Some numbers are give below. Decide the

numbers to which numbers sets they belong to

and does not belong to and express with

correct symbols. 

Watch Video Solution

√2

https://dl.doubtnut.com/l/_66ZHBNOyvyrJ
https://dl.doubtnut.com/l/_eU5jKbJmulcb
https://dl.doubtnut.com/l/_bgAWk9FR936O


16. Some numbers are give below. Decide the

numbers to which numbers sets they belong to

and does not belong to and express with

correct symbols. 

log 2

Watch Video Solution

17. Some numbers are give below. Decide the

numbers to which numbers sets they belong to

and does not belong to and express with

https://dl.doubtnut.com/l/_bgAWk9FR936O
https://dl.doubtnut.com/l/_euAxmfCfSUNS


correct symbols. 

0.03

Watch Video Solution

18. Some numbers are give below. Decide the

numbers to which numbers sets they belong to

and does not belong to and express with

correct symbols. 

Watch Video Solution

π

https://dl.doubtnut.com/l/_euAxmfCfSUNS
https://dl.doubtnut.com/l/_kwf1MLYlO6jN
https://dl.doubtnut.com/l/_Ejdj0VrJytF9


19. Some numbers are give below. Decide the

numbers to which numbers sets they belong to

and does not belong to and express with

correct symbols. 

Watch Video Solution

√−4

20. List the elements the following sets. 

(i) G={all the factors of 20} 

(ii) F={multiples of 4 between 17 and 61 which

are divisible by 7? 

https://dl.doubtnut.com/l/_Ejdj0VrJytF9
https://dl.doubtnut.com/l/_2TAIEgSfcxA9


(iii) S={x : x is a letter in the word 'MADAM'"} 

(iv) P={x : x is a whole number between 3.5 and

6.7}

Watch Video Solution

21. Write the following sets in the roster form. 

(i) B is the set of all months in a year having 30

days. 

(ii) P is the set of all prime numbers smaller

than 10. 

(iii) X is the set of colours of the rainbow.

https://dl.doubtnut.com/l/_2TAIEgSfcxA9
https://dl.doubtnut.com/l/_DxZ0kgVRXFO2


Watch Video Solution

22. A is the set of factors of 12. Which one of

the following is not a member of A. 

(A) 1 (B) 4 (C) 5 (D) 12

Watch Video Solution

23. A={1,2,3,4}, B={2,4}, C={1,2,3,4,7}, F={}. 

Fill in the blanks with  


(i) A.....b (ii) C....A (iii) B....A 

(iv) A.....C (v) B.....C (vi) 

⊂ or ⊂

ϕ...B

https://dl.doubtnut.com/l/_DxZ0kgVRXFO2
https://dl.doubtnut.com/l/_qUiWIgcYbHsw
https://dl.doubtnut.com/l/_AFphOwcukKUD


Watch Video Solution

24. State which of the following statement are

true. 

(i)  (ii)  (iii) 

Watch Video Solution

{} = ϕ ϕ = 0 0 = {0}

25. Let A={1,3,7,8} and B={2,4,7,9}. Find 

Watch Video Solution

A ∩ B

https://dl.doubtnut.com/l/_AFphOwcukKUD
https://dl.doubtnut.com/l/_scoH7fBhsvlr
https://dl.doubtnut.com/l/_sX6YCYcy4eGu
https://dl.doubtnut.com/l/_guDSbAoviiMO


26. If A={6,9,11}, B={}. Find .

Watch Video Solution

A ∪ ϕ

27. A={1,2,3,4,5,6,7,8,9,10}, B={2,3,5,7}. Find 

Watch Video Solution

A ∩ B

28. If A={4,5,6}, B={7,8} then show that

Watch Video Solution

A ∪ B = B ∪ A

https://dl.doubtnut.com/l/_guDSbAoviiMO
https://dl.doubtnut.com/l/_S3SkQD7bLS96
https://dl.doubtnut.com/l/_M44REekTtW4e


29. If A={1,2,3,4,5} and B={4,5,6,7}, then find A-B

and B-A. Are they equal?

Watch Video Solution

30. If V={a,e,I,o,u} and B={a,I,k,u}. Find V-B and B-

V.

Watch Video Solution

https://dl.doubtnut.com/l/_iIBHG2dBavRF
https://dl.doubtnut.com/l/_KPwvy6pes8X9


31. Which of the following are empty sets?

Justify your answer. 

(i) Set of integer which lie between 2 and 3. 

(ii) Set of natural numbers that are smaller

than 1. 

(iii) Set of odd numbers that leave remainder

zero, when divided by 2.

Watch Video Solution

32. State which of the following sets are finite

and which are finited. Give reasons for your

https://dl.doubtnut.com/l/_a8Lq9QQDgGJP
https://dl.doubtnut.com/l/_HbFlLpMyqz5F


answer. 

(i)  (ii) 

 


(iii)  (iv) D={1,2,3,4} 


(v) {x : x is a day of the week}

Watch Video Solution

A = {x : x ∈ N and x < 100}

B = {x : x ∈ N and x ≤ 5}

C = {12, 22, 32, .... }

33. Tick the set which is infinite 

(A) The set of whole numbers  (B) The set

of prime numbers  


(C) The set of integers  (D) The set of

factors of 10

< 10

< 10

< 10

https://dl.doubtnut.com/l/_HbFlLpMyqz5F
https://dl.doubtnut.com/l/_OwZuS05LwNtw


Try This

Watch Video Solution

1. Write some sets of your choice, involving

algebraic and geometrical ideas.

Watch Video Solution

2. Match roster forms with the set builder form.

(i) {p,r,I,n,c,a,l} (a) {x : x is a positive integer and

https://dl.doubtnut.com/l/_OwZuS05LwNtw
https://dl.doubtnut.com/l/_Vazynyz6wk6j
https://dl.doubtnut.com/l/_M7k36HBoa1Mi


is a divisor of 18} 

(ii) {0} (b) {x : x is an integer and  


(iii) {1,2,3,6,9,18} (c) {x : x is an integer and x+1=1} 

(iv) {3,-3} (d) {x : x is a letter of the word

PRINCIPAL}

Watch Video Solution

x2 − 9 = 0}

3. A ={set of quadrilaterals}, B={square,

rectangle, trapezium, rhombus}. State whether

. Justify your answer.

Watch Video Solution

A ⊂ B or B ⊂ A

https://dl.doubtnut.com/l/_M7k36HBoa1Mi
https://dl.doubtnut.com/l/_FEUfaQoHlU2A


4. If A={a,b,c,d}. How many subsets does the set

A have? 

(A) 5 (B) 6 (C) 16 (D) 65

Watch Video Solution

5. P is the set of factors of 5, Q is the set of

factors of 25 and R is the set of factors of 125.

Which of the following is false? 

(A)  (B)  (C)  (D) 

Watch Video Solution

P ⊂ Q Q ⊂ R R ⊂ P P ⊂ R

https://dl.doubtnut.com/l/_FEUfaQoHlU2A
https://dl.doubtnut.com/l/_Rc6ZW1aY81ZR
https://dl.doubtnut.com/l/_GIZEGN4HQaxF


6. A is the set of prime number less than 10, B is

the set of odd numbers less than 10 and C is

the set of even numbers of less than 10. Which

of the following statements are true? 

(i)  (ii)  (iii)  (iv)  (v) 

 (vi) 

Watch Video Solution

A ⊂ B B ⊂ A A ⊂ C C ⊂ A

B ⊂ C ϕ ⊂ A

7. List out some sets A and B and choose their

elements such that A and B are disjoint.

https://dl.doubtnut.com/l/_GIZEGN4HQaxF
https://dl.doubtnut.com/l/_PSHiNVGeXxT5
https://dl.doubtnut.com/l/_YOzoJMxKiTPZ


Watch Video Solution

8. If A={2,3,5}. Find  and

compare.

Watch Video Solution

A ∪ ϕ and ϕ ∪ A

9. If A={1,2,3,4} and B={1,2,3,4,5,6,7,8}, then find

. What do you notice about

the result?

Watch Video Solution

A ∪ B and A ∩ B

https://dl.doubtnut.com/l/_YOzoJMxKiTPZ
https://dl.doubtnut.com/l/_pdvLTE1RIMhK
https://dl.doubtnut.com/l/_EI9X5J7I2Oje


10. Let A={1,2,3,4,5,6} and B={2,4,6,8,10}. Find the

intersection of A and B.

Watch Video Solution

11. Which of the following sets are empty sets?

Justify your answer. 

(i)  


(ii) The set of all triangles in a plane having the

sum of their three angles less than 180.

Watch Video Solution

A = {x : x2 = 4 and 3x = 9}

https://dl.doubtnut.com/l/_EI9X5J7I2Oje
https://dl.doubtnut.com/l/_CEqBhtsbF7YD
https://dl.doubtnut.com/l/_SYWlGO3OSmKl


https://dl.doubtnut.com/l/_SYWlGO3OSmKl

